== A
N & o & AF & H A A
20198 & =0l & LBHSI A AbSI = X 1t
SN ALSI S X
A FOHQI=K (MESX/HLHEN )
&S ZOHAAHS (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
A3l = X 2t 132,748,309 114,771,985 17,976,324
= 78,318,553
J| 1,074,830
< 14,161,449
Al 39,193,477
O SX (A SX/FHLAHSKH) 18,758,220 15,556,085 3,202,135
= 7,931,817
< 1,846,053
Al 8,980,350
ZOHAHS 18,758,220 15,556,085 3,202,135
= 7,931,817
= 1,846,053
Al 8,980,350
o= (0I=x) 429,311 427,937 1,374
= 300,518
Al 128,793
301 L2 A F 429,311 427,937 1,374
= 300,518
Al 128,793
01 MEIBEE 253 429,311 427,937 1,374
OJlx= EO0H=#=<(923Y) 429,311
= 300,518
Al 128,793
Zo=g(HAAS) 252,494 272,736 N 20,242
= 176,746
Al 75,748
301 4= 252,494 272,736 N 20,242
= 176,746
Al 75,748
01 A3l EE & 6l = 252,494 272,736 N 20,242
OXtatel o< (5449) 252,494
= 176,746
Al 75,748
Zo=g(12) 48,000 48,000 0
< 14,400
Al 33,600
301 L2 A F 48,000 48,000 0
< 14,400
Al 33,600
01 MEIBEE 2063 48,000 48,000 0
O1=z o= (200%) 48,000
< 14,400
Al 33,600
HAsEe MEH R ZAH XI& 6,000 6,000 0
= 3,000
Al 3,000




SN ASEXD
o MU= (ASI=X/HAHEN )
chel: EOjOIH = CERE)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

301 €EtE &= 6,000 6,000 0

3,000
Al 3,000

H

FH=0l= 6,000 6,000 0
9 AbHI (232€) 6,000

3,000
Al 3,000

)
>
T
Jn
o
2
e
pal
m
=3
He
1

H

ZOoHeIel =l 329,278 117,582 211,696

263,422
Al 65,856

H

308 AHXIEHHMSO0IE 329,278 117,582 211,696

263,422
Al 65,856

H

= Ol CH &t B & & 9 EF A HI 329,278 117,582 211,696
OZFO0Hel o =2H(350) 329,278

= 263,422
65,856

=

o=z 3,584,154 2,900,160 683,994
2,508,908
322,574
752,672

= N H

301 LEE A F 3,584,154 2,900,160 683,994
2,508,908
322,574
752,672

= N W

01 A28 X =0dl= 3,584,154 2,900,160 683,994
OzZofel A=Z(1,2559) 3,584,154

2,508,908
322,574
752,672

= M W

LETHEAMHIA HISH K& 200,880 200,880 0
140,616
30,132
30,132

= M W

308 MHXIHMS0IH 200,880 0 200,880
140,616
30,132
30,132

= MW

JI2SOl0HetE & X 2 E AL I 200,880 0 200,880
A ) 200,880

140,616
30,132
30,132

= W

,640 4,320 4,320
,048
,296
,296

= W
SN e




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
308 XXM SO0 A 8,640 0 8,640
= 6,048
< 1,296
Al 1,296
10 3J/2S0HUHeBAEEALS I 8,640 0 8,640
O LEXE H2H(2Y) 8,640
= 6,048
= 1,296
Al 1,296
LM 2RYclaE X2 1,920 3,840 A 1,920
2 1,344
< 288
Al 288
308 XXM SOIA 1,920 0 1,920
= 1,344
< 288
Al 288
10 B2 SUHUEE &S A 1,920 0 1,920
Oggaofel 2R (29) 1,920
=2 1,344
< 288
Al 288
LA FAHESAHUAXRA 56,395 0 56,395
= 39,477
< 8,459
Al 8,459
308 XX EHH SOl A 56,395 0 56,395
= 39,477
= 8,459
Al 8,459
1037/ 2S0HUHeBHEAEALS I 56,395 0 56,395
QgL FAEBSMHUAXR(5Y) 56,395
= 39,477
< 8,459
Al 8,459
LI Lus SSHUAXA 37,600 0 37,600
= 26,320
< 5,640
Al 5,640
308 XXM S0l A 37,600 0 37,600
= 26,320
= 5,640
Al 5,640
10 B2 S0 3&HAE AR 37,600 0 37,600
OLEHM &UE SsSMHIA X (1) 37,600
= 26,320
< 5,640




SN ASEXD
o MU= (ASI=X/HAHEN )
chel: EOjOIH = CERE)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

| Al 5,640

ZOHAZ XD 4,715 4,715 0

= 3,772
Al 943

301 et d = 4,715 4,715 0

3,772
Al 943

H

01 A28 H =0dl= 4,715 4,715 0
QX BxI101(37Y) 4,715

3,772
943

= W

ZOHe ESXE 26X 4,365,614 2,895,551 1,470,063
3,055,930
392,905
916,779

= N H

308 AHXIEHMSO0IE 4,365,614 0 4,365,614
3,055,930
392,905
916,779

= N

= Ol CH et B & H 2 E A HI 4,365,614 0 4,365,614
OXoHe EsX& S0{(256Y) 4,365,614
3,055,930

392,905
916,779

= N H

232X =20 5,260 6,097 A B37
3,682

473
1,105

= N H

308 XXM S0l ™ 5,260 0 5,260
3,682

473
1,105

= N W

= SOtHe B & & A E A S| 5,260 0 5,260

OsEx JHatZ0i(5Y%) 5,260

3,682
473

1,105

= M W

SSHEMHA RO 748,700 832,075 A 83,375
299,480
449,220

= M

308 AHXIEHHMSO0IE 748,700 0 748,700

299,480
449,220

= M

= OiCHE 2 & X AE AL HI 748,700 0 748,700
OsEEMY ==01(171Y) 748,700

299,480
Al 449,220

H




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

2,600,

000

1,600,000

1,000,000

2,600,

000

0

2,600,000

2,600,
2,600,

000
000

0

2,600,000

= M W

4,
2,

000
800
360
840

6,000

2,000

= M W

4,
2,

000
800
360
840

6,000

A2,000

Z W

4,
4,
,800

2

000
000

360
840

6,000

A2,000

ZHo el Riel X &

= N H

162,
,078
,823
,255

76
22
53

156

740,692

A 588,536

307 glztol &

=z N H

152,
,078
,823
,255

76
22
53

156

740,692

A 588,536

= MW

162,

152,
76,
22,
53,

156

156
078
823
255

740,692

A 588,536

= N W

594,
297,

89,
208,

938
469
241
228

594,938

= N H

594,
297,

89,
208,

938
469
241
228

594,938

04 DIt 22 XS+
=

OFOHA LBHs (MU HM)LXtel(24Y)

= HnH

594,
594,

297,
89,
208,

938
938

469
241
228

594,938

Fof L et (AIEA) L X2l

o

124,

62,
18,

014

007
602

124,014




AN ALEI =X
HH: ZHA=SX (M SX/FHLASKH)

Sl FojeI S (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

Al 43,405

101 1244 dl 124,014 0 124,014
= 62,007
< 18,602
Al 43,405

04 JIZHHZ2XREES 124,014 0 124,014
OZOHorUeta (Al2HR) L X2l (10) 124,014
= 62,007
= 18,602
Al 43,405

FOAEXRID ¥ HOLHIXR 5,562 5,562 0
< 2,781
Al 2,781

301 YptE A 5,562 5,562 0
< 2,781
Al 2,781

01 MEIBEE 263 5,562 5,562 0
OFHOI2ZRIIJ U B2 HH|(34%) 5,562
< 2,781
Al 2,781

S RIDNE=DA L 4,350 4,350 0
< 2,175
Al 2,175

301 gt d= 4,350 4,350 0
= 2,175
Al 2,175

01 MI2EZE 06z 4,350 4,350 0
OFAZTMY 0ISHAA}RZ(20Y) 1,200
< 600
Al 600
OaEZEM FAHI(3H) 3,150
= 1,575
Al 1,575

SSEMA=AHASZ ML 10,000 10,000 0
< 3,000
Al 7,000

402 RI2EXt20l ™ 10,000 10,000 0
= 3,000
Al 7,000

02 QI 2 AE EZ(OI X TH ) 10,000 10,000 0
OZSHM =HeA HE=(2HIU) 10,000
< 3,000
Al 7,000

ORI 4,600 4,600 0
= 2,300
Al 2,300




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

SA - BB B () - MM - BES Ol &t o San HmEET
301 gt L= 600 600 0
< 300
Al 300
01 MEI2EZE 45z 600 600 0
OSEHLZMY 28 HA HSHI(1Y) 600
< 300
Al 300
307 21201 A 4,000 4,000 0
< 2,000
Al 2,000
11T MISXASEX 4,000 4,000 0
OQUHAEMS JIssSs UF(1HLA) 4,000
< 2,000
Al 2,000
ZOfoIH O X & 55,000 214,000 A 159,000
201 Let249] 3,000 9,000 A 6,000
01 At 22l 3,000 9,000 A 6,000
Ooggt =&H| 3,000
—Z0Y BXNEM P2 ¥ JIEt=EHI 3,000
405 TtHakH S| 52,000 205,000 A 153,000
01 AL EFH S 52,000 205,000 A 153,000
OXfel HoHE 2 2,000
OFMA=SXAIE XS (E2HOH2AZE) 2
50,000,000 = 1CH 50,000
Foper=XN2a 24 1,028,000 1,391,000 A 363,000
< 51,100
Al 976,900
307 gl2tol & 998,000 956,000 42,000
< 51,100
Al 946,900
05 BIZHRI & 3 998,000 956,000 42,000
OFHe=X2 29l 998,000
< 51,100
Al 946,900
401 Al HIZ 201 8] 30,000 4,000 26,000
01 A& HI 30,000 0 30,000
OS2 2A2AHE HIIHE S ZXSA 30,000
ZOHAANFAIE 22X A 1,249,258 1,208,030 41,228
= 874,480
< 112,434
Al 262,344
307 21201 A 1,249,258 1,208,030 41,228
= 874,480
< 112,434




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

262,344

10 A SXAEHE2SEHIEX

OZOL HA=AE2S(1HA)

= W

1,249,258
1,249,258

874,480
112,434
262,344

1,208,030

41,228

FOAHFAIE JISEZ

H

158,400

79,200
79,200

158,400

402 QI2tXt=01

A

158,400

79,200
79,200

158,400

oW

168,400

158,400

79,200
79,200

168,400

o

20,000

10,000
10,000

20,000

402 QI2HX=01 M

o

20,000

10,000
10,000

20,000

SX(0IETHEA)

&
OZMHAXNSTHEAE JIsE2Z(1HA)

H A

20,000

20,000

10,000
10,000

20,000

= H

950,051
24,690
925,361

929,215

20,836

307 glztol &

= M

950,051

24,690
925,361

929,215

20,836

10 M SXNANEEE2SHEX

OZOe HNEMAEL=2

02
==
@
=
b

H

Al

950,051

950,051

24,690
925,361

929,215

20,836

= N

144,589

6,800
137,789

169,139

A 14,550

307 212t0l &

H

Al

144,589

6,800
137,789

159,139

A 14,550

= M

144,589
144,589

6,800
137,789

169,139

A 14,550




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

=otESgHH 29 189,130 172,300 16,830
= 5,650
Al 183,480

307 gl2tol & 189,130 172,300 16,830
< 5,650
Al 183,480

10 AL SXNAIEEE2EH EX 189,130 172,300 16,830
O=stsduE 2LHI(1HA) 189,130
< 5,650
Al 183,480

ZOCIF2ABSAIE 23 210,823 196,773 14,050
< 40,000
Al 170,823

307 glz2+0l & 210,823 196,773 14,050
< 40,000
Al 170,823

10 ALSISEXAIEEE2EHEX 210,823 196,773 14,050
FUABSAE 224 (2HA) 210,823
< 40,000
Al 170,823

ANAEe =2AESHH 29 117,800 111,155 6,645
< 40,000
Al 77,800

307 21201 A 117,800 111,155 6,645
< 40,000
Al 77,800

10 M2 SXNANEHE2IHEX 117,800 111,155 6,645
OAZZOHC F2tESHE 2l (101L) 117,800
= 40,000
Al 77,800

HOHIBSMBIE 29 162,733 104,107 58,626
< 2,000
Al 160,733

307 glz2tol & 162,733 104,107 58,626
< 2,000
Al 160,733

10 AL SXAIEEE 2 H EX 162,733 104,107 58,626
OZHe SSHEIY 2EHI(HQ 1) 58,626
= 2,000
Al 56,626
QX SSMEIE 2 HI(IHQ! 2)HA) 104,107

ZOHASXAIA 220,500 472,637 N 252,137
< 110,250
Al 110,250

307 gl2tol & 220,500 472,637 A252,137




2N
X ZH -
L= B

el

Akl = X1 ot
ZOHA =S X (A EX/HAHESXH)
ZOHAAS

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 110,250
Al 110,250

10 ALSISXAIEEE2EHEX 220,500 472,637 A 252,137
OFMA=SXAE SAXL(82Y) 213,200
< 106,600
Al 106,600
OXZONQIME AISEXR OF2t=g(4Y) 7,300
< 3,650
Al 3,650

ZOHQABAAI LR RAEEH 2 55,000 0 55,000
S 16,500
Al 38,500

307 glz2tol & 55,000 0 55,000
< 16,500
Al 38,500

11T M SXAIS EX 55,000 0 55,000
OZONQUBOIAIL KNAMESH (1744 ) 55,000
< 16,500
Al 38,500

SSTOHAAC Atedi2el 78,000 0 78,000
< 27,300
Al 50,700

307 21201 A 78,000 0 78,000
< 27,300
Al 50,700

11T MISRASEX 78,000 0 78,000
OZSSHOMHAANH Atell2el(2¥) 78,000
< 27,300
Al 50,700

SSHMHLY NEgH2HEH 2 140,000 0 140,000
< 56,000
Al 84,000

307 21201 A 140,000 0 140,000
= 56,000
Al 84,000

11T ALS S XAEE = 140,000 0 140,000
OZSTMH K MEME(1IHL) 140,000
< 56,000
Al 84,000

ZOHQI M EorA 30,000 27,000 3,000
= 15,000
Al 15,000

307 glz2+ol & 30,000 27,000 3,000
< 15,000
Al 15,000

05 RIZt2E = 30,000 27,000 3,000
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SH: AS =X D
B FOHOIST (MEIST/HANERR)
Sl ZojeIHE

= _ — d =
SA - BB B () - MM - BES Ol &t o e
—Z2d=s0t2 MsUa &t 3,000
O =23 Xl 3,000
—Z0Q JIEBE L YIS 3,000
307 glz2+ol & 87,200 87,200
< 7,300
Al 79,900
03 QIZUtHMNHE2IHIEE 53,600 53,600
OXMZEHL ol 2| 27,000
OAlZtEelEal 2| 11,600
Os0telga 249l 5,000
OFMel223 2d4| 10,000
11T MIZSXASEEX 33,600 33,600
OFofsta sty delstn=2d 12,000
< 4,800
Al 7,200
OAZZEOHR JII=THE DS 5,000
= 2,500
Al 2,500
OAZZ !l AI2=0ln4 2,600
OZ Ol Al A 8,000
ONMASZENA FEALAMX B2
1,500 x 1004 & x200Z 3,000
OFMIIEFA 3,000
ZOHQIALE D& &AL 21,000 21,000
307 glz2+ol & 21,000 21,000
04 QIZFHALAIH B = 21,000 21,000
OXZOHeleld &AL 21,000
AEDII = OhelH 0l E =03l 7,000 7,000
307 21201 A 7,000 7,000
04 QIZFHALAIH B & 7,000 7,000
OAIZIl ZoHel HolE=a 7,000
OOl 0le & A} 5,000 5,000
307 gl2tol & 5,000 5,000
04 DIZHHALALSE E X 5,000 5,000
OFMAHE 0l &AL 5,000
A2tZ0HQl EIRIZOIS A 6,000 6,000
307 glz2+ol & 6,000 6,000
04 QIZFHALAIH 2 = 6,000 6,000
OAIZEEOHel S XZ0I2 & A 6,000
S0telel & Jtx stotS U3 4,000 4,000
307 21201 A 4,000 4,000
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2N
X ZH -
L= B

el

Akl = X1 ot
TSI (AS S XI/ALE S X L8t
SXABIA S8

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

Al

1,089,900

307 21201 A

= M

999,800

29,900
969,900

942,400

57,400

o
o
e
S
0
oy

JooJm

O
>
ton

KAIE SAR=E(23Y)

SEMA=ERZ 2Y

f

Al

999,800

59,800

29,900
29,900

940,000

942,400

57,400

401 AIEHIZ 2 I

120,000

120,000

01 A& HI

OZEMaFX 2 ==L S A

120,000
120,000

120,000

L Ol MEOIE

Il

o o

I

o

= Hn W

4,654,294

2,019,857
862,434
1,772,003

3,282,664

1,371,630

= M W

4,434,294
2,019,857

862,434
1,552,003

3,082,664

1,351,630

= M W

528,615
238,658
104,942
185,015

147,978

380,637

04 DIt 22 XS+

= W

= M

528,615

477,315
238,658
71,597
167,060
51,300
33,345
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Il 496,741
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Al 62,092
301 et a3 620,926 245,431 375,495
J| 496,741
< 62,093
Al 62,092
01 A3l EE E 56l = 620,926 245,431 375,495
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| 496,741
< 62,093
Al 62,092
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Al 6,300
OXNg=al(6Y) 3,000
< 900
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OsR2IIY otsst &l (300Y) 12,000
< 3,600
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SH: ASI =X D
M GH=X (AE=X/2S -t
Sl HEEXE (B9 ®R)

M
e
2
0x

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

@)eN=a.] 1,000

— Xcl4 LPGItA S 100,000& =10& 1,000

OAN&£EHIRXH & 23,000
X

—ANd=s22 & FHRXN S 23,000

301 LEE A F 131,600 0 131,600

243 131,600 0 131,600
Ondzg a2 2SI LE LA 131,600

— A= 35,0008 «B2| x47 4 S +10& 131,600

OSSR (AM=X/ER - HELAHY) 9,671,293 8,169,067 1,502,226
3,896,339
J| 17,294
,459,441
Al ,298,219
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H
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4
otsE= 9,671,293 8,169,067 1,502,226

3,896,339
J| 17,294
,459,441
Al 4,298,219
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H

A0S IHEX A 54,012 44,800 9,212
37,808

810
15,394

= MW
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Al 12,420
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4,628
Al 1,984
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= 682
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NEotsdlye 248 K& 1,136,760 1,064,880 71,880
= 568,380
< 227,352
Al 341,028
307 gl2tol & 1,136,760 1,064,880 71,880
= 568,380
< 227,352
Al 341,028
10 AL SXAIEEE 2 H EX 1,136,760 1,064,880 71,880
OXZotsdH 22l 1,136,760
= 568,380
< 227,352
Al 341,028
EQR2Y NdotsdH XA 14,592 19,102 24,510
= 7,296
< 2,920
Al 4,376
307 21201 A 14,592 19,102 A4,510
= 7,296
< 2,920
Al 4,376
10 ALSISXAIEEE2GHEX 14,592 19,102 24,510
OER2Y XdotsddH 14,592
= 7,296
< 2,920
Al 4,376
S=XNgotsdE K& 42,228 50,149 AT,921
= 21,114
< 8,446
Al 12,668
307 21201 A 42,228 50,149 AT,921
= 21,114
< 8,446
Al 12,668
10 AL SXNAIEEE2EH EX 42,228 50, 149 AT,921
Of=XdotsdH 42,228
= 21,114
< 8,446
Al 12,668
E+=28g NdotsdH XA 14,616 14,616 0
= 7,308
< 2,923
Al 4,385
307 glz2tol & 14,616 14,616 0
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el OSES (29l 8)
SA - BB B () - MM - BES Ol &t o San HmEET
== 42,206
Al 63,309
— Ol 1,000
Ots=XAE2d 1,725,600 1,733,400 A7,800
< 40,300
Al 1,685,300
307 21201 A 1,725,600 1,733,400 AT,800
< 40,300
Al 1,685,300
10 ALSISEXAIEEE2EHEX 1,645,000 1,645,000 0
OO0ts=XAIE 22l 1,645,000
11 ALS S XALEE = 80,600 88,400 A7,800
OOS=EXAE BSAR =& 80,600
< 40,300
Al 40,300
AEotsEsd=2l2 243 34,588 35,278 A 690
J| 17,294
< 5,188
Al 12,106
307 glz2+ol & 34,588 35,278 A 690
J| 17,294
< 5,188
Al 12,106
10 ALSISXAIEEE2EHEX 34,588 35,278 A 690
OOlsEsd2II& 23l 34,588
J| 17,294
< 5,188
Al 12,106
AbotsE2sdzll2 28(%) 4,846 0 4,846
= 1,454
Al 3,392
307 21201 A 4,846 0 4,846
= 1,454
Al 3,392
10 M2 SXNANEHE2IHEX 4,846 0 4,846
OOSESEZII 2IHI(ZHl EXAY) 4,846
< 1,454
Al 3,392
EA0ts ANEEEAS 80,000 50,000 30,000
< 8,000
Al 72,000
301 g2 L= 80,000 50,000 30,000
< 8,000
Al 72,000
01 MEIEBEZE+05l= 80,000 50,000 30,000
A0S U3 (16F) 80,000




AN ALEI =X

M OIS =X (MESX/2] - HEU0A)
o9l OtSES (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 8,000
Al 72,000
2sEI0ts NE=+E 27,088 0 27,088
= 18,962
< 4,063
Al 4,063
301 gt 4= 27,088 0 27,088
= 18,962
< 4,063
Al 4,063
01 MI2EZE 06z 27,088 0 27,088
O2s&E20ts e 27,088
= 18,962
< 4,063
Al 4,063
2ES0ts NHEXJ AL 6,820 0 6,820
2 4,774
< 1,023
Al 1,023
301 et a = 6,820 0 6,820
2 4,774
< 1,023
Al 1,023
01 MEIBZE 263 6,820 0 6,820
OZALXS0ts XX (5Y) 6,820
2 4,774
< 1,023
Al 1,023
RESls /=2 620 1,000 A 380
< 620
301 L2 A=z 620 1,000 A 380
< 620
01 MI28E 6= 620 1,000 A 380
OREs0ts Y&2=2(10%) 620
< 620
Hed20ts K& 113,000 131,000 A 18,000
301 et d s 113,000 131,000 A 18,000
01 MEIE2EZE 06z 113,000 131,000 A 18,000
OJ)EAEts E3H| 150,000& 60 122 108,000
OOs=XAIE Hetgs &g Zd3(5Y) 5,000
gttt g ey XN#E 42,960 38,080 4,880
< 17,184
Al 25,776
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OJEAE NI M Z=dl(48AITH)
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& 3,840
Al 5,760
OLEBS0tS 10 12 2:71(10Y)
600,000 x10H 6,000
= 2,400
Al 3,600
OJIEAEMU 2T Al (2KHTH)
300,000 2Kl CH*x12& 7,200
& 2,880
Al 4,320
ols24 X& 1,467,990 1,343,960 124,030
& 646,974
Al 821,016
301 LBt A= 1,467,990 1,343,960 124,030
o=t 646,974
Al 821,016
01 Al E & A 462 1,467,990 1,343,960 124,030
Ogls .4 .24 555,750
= 555,750
ogsts & ASUAX 912,240
& 91,224
Al 821,016
orsEX 22 105,476 106,576 A 1,100
= 1,440
Al 104,036
201 B9 19,976 19,976 0
01 AP 22| H| 12,476 12,476 0
Ogbt4=24| 9,586
— XNY0lsSHE ®XIE(DN2IE)AME =4
= 474,892,000 *1. 1% 5,224
— X Y90lsSHE 0IES0ls A AHA OlES
400 *492H x12& 2,362
—orssttiue 222 ME 2,000
O = 1,890
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500,000& #2204 2~ 1,000
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SCRNIEEE CEEEED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
OA&EHl Sl 7,500
— {2I0l=0lAIE EHIIZA =22 (92D) 3,500
— OEO0l=0lAld SXdl 4,000
301 L2 A F 35,500 36,600 A 1,100
< 1,440
Al 34,060
01 MEIBEE 2053 14,400 15,000 A 600
OOS=XAE FEAS(3HAL)
20,0003 x90Y *23| 3,600
OOLS=XAIE Ol2I0lg AS(3HAIL)
20,0003 x90Y * 13| 1,800
ONE0l=0lAIE tHaMABE =
300,000 *300H 2 9,000
09 HALAHIEA S 13,900 14,400 A 500
OOts=XAE &= 50,000& x90H 4,500
OOSHd & SXAE SAMX I
100,000& »3=] x18H 5,400
Ots 3= 4,000
12 JIEtEA 3 7,200 7,200 0
O0ts9& #stl 100,000& »22] x36H 7,200
< 1,440
Al 5,760
401 AIEHIZ 28I 50,000 50,000 0
01 A& Bl 50,000 50,000 0
ONEols0lAle 84X & FHHl 50,000
HAR2IHE. BEHAHE 0l &sHE 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DI2HHALALSE E X 8,000 8,000 0
ONHA2IE 0l & 2YEAH0ISSHE 8,000
el 0l Z3EL A 5,000 0 5,000
307 glz2tol & 5,000 0 5,000
04 QIZFHALAIH E = 5,000 0 5,000
OHsEtoelol 28 &AL 5,000
Of2l0l & A 32,000 30,000 2,000
= 500
Al 31,500
307 21201 A 32,000 30,000 2,000
< 500
Al 31,500
04 QIZFHALAIR B = 32,000 30,000 2,000
O0eolg At 32,000
< 500
Al 31,500




AN ALEI =X

HM: OIS=EX(MIAEXN/ES - IHSL0A)

o9l OlEES (el & e)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
S=E el oA BLUHER2S3 10,000 9,000 1,000

307 QI2t0| ™ 10,000 9,000 1,000

04 QIZ2FSH AFALS B X 10,000 9,000 1,000
OsZE oA Z2URes3 10,000

FHAANS OtsSSAMEIA X 287,370 309,275 AN 21,905
= 276,000
Al 11,370

101 2121 d| 148,470 144,975 3,495
= 137,100
Al 11,370

03 2INHAZ2XHE %= 148,470 0 148,470
OOt=sS¢&tAtedl 22l A 2124 H] (5H) 148,470
-Jl2= 1,900,000& x5 «12& 114,000
= 114,000
—E8NYZ 2,100,000 «1/12x5H x12& 10,500
= 10,500
— A2t =% 14,000 *15A1 2Ex5H x 1204 & 12,600
= 12,600
— &S| 1,137,000 x5 «23] 11,370

201 Bt A H| 76,400 93,300 A 16,900
= 76,400

01 At 22l ] 42,800 54,700 A 11,900
OEEAEEAY W=H| 250,000& x5 x23| 2,500
= 2,500
OuM £ 2= H& 4,000
= 4,000
Ofd3x< 2,500
= 2,500
OEEYAEE 294| 5,000
= 5,000
OZz ] &dH| 6,000
= 6,000
OEHAEE 29 2ZAMxE 18,000
= 18,000
OF=1=1:] 8,000 x5H 10 x12& 4,800
= 4,800

02 35249t 3,600 3,600 0
o332 100,000& ~12& 1,200
= 1,200
OxEF23H| 200,000& «12& 2,400
= 2,400

03 &AL E H| 30,000 35,000 A5,000
OEYAEIE A 2| 30,000
= 30,000
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Akl = X1 ot

M OlS=X (AS2N/2S - HEL0A)
el OSES (29l 8)
SA - BB B () - MM - BES Ol &t o San HmEET
202 Od4dl 10,200 10,800 A 600
= 10,200
01 =S LHAYI 10,200 10,800 A 600
OSYAEEMY HRFA 10,200
= 10,200
301 L2 A F 50,000 50,000 0
= 50,000
01 MEIBEE 263 45,000 45,000 0
OEHAERE =1 45,000
= 45,000
09 SALAHIEAS 5,000 5,000 0
OXdgsts & BRUK S T4 5,000
= 5,000
307 glz2+ol & 2,000 2,000 0
= 2,000
01 22724l 2,000 2,000 0
OAdZzaa & o=l 50, 000& x20H »23| 2,000
= 2,000
405 THobH S| 300 1,200 A 900
= 300
01 HatH ESFH S 300 1,200 A 900
O EAERE T8N aAgiAs)| 300
= 300
OFS=XNAE JIs2H 68,000 0 68,000
= 34,000
< 10,200
Al 23,800
402 RI2HX=20| A 68,000 0 68,000
= 34,000
< 10,200
Al 23,800
02 QI EAIL B (01T S) 68,000 0 68,000
OOS=EXAE JsE2(2MHL) 68,000
= 34,000
< 10,200
Al 23,800
HAEES ¥ SH(MESX/col-F#AH) 1,276,466 1,180,236 96,230
= 15,823
J| 219,074
< 52,858
Al 988,711
s Fad |54 1,276,466 1,180,236 96,230
= 15,823
J| 219,074
< 52,858
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Al 988,711
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